

25/11/2019

36

★★

$$\frac{(x^{n-2})^{n-4}}{x^6 (x^n)^{n-6}} + \frac{(x^{n-1})^{n+1} (x^n)^{2n}}{(x^{3n})^n : (x)^3} - 4 \frac{x^n x^4}{x^{n-2}} =$$

[Ris. $2x^2 - 4x^6$]

$$= \frac{x^{(n-2)(n-4)}}{x^6 \cdot x^{n(n-6)}} + \frac{x^{(n-1)(n+1)} \cdot x^{2n^2}}{x^{3n^2} : x^3} - 4 \frac{x^{n+4}}{x^{n-2}} =$$

$$= \frac{x^{n^2 - 4n - 2n + 8}}{x^6 \cdot x^{n^2 - 6n}} + \frac{x^{n^2 + n - n - 1} \cdot x^{2n^2}}{x^{3n^2 - 3}} - 4x^{n+4 - (n-2)} =$$

$$= \frac{x^{n^2 - 6n + 8}}{x^{6 + n^2 - 6n}} + \frac{x^{n^2 - 1 + 2n^2}}{x^{3n^2 - 3}} - 4x^{n+4 - n + 2} =$$

$$= x^{n^2 - 6n + 8 - (6 + n^2 - 6n)} + x^{n^2 - 1 + 2n^2 - (3n^2 - 3)} - 4x^6 =$$

$$= x^{\cancel{n^2} - 6\cancel{n} + 8 - 6 - \cancel{n^2} + 6\cancel{n}} + x^{\cancel{n^2} - 1 + 2\cancel{n^2} - 3\cancel{n^2} + 3} - 4x^6 =$$

$$= \underline{x^2} + \underline{x^2} - 4x^6 = \boxed{2x^2 - 4x^6}$$

35

$$[(-a^{2n})^2(a^{n-2})^{n-2}] : (a^{n+1})^{n-1} + a^2 [2(a^n)^n : (a^n)^{n-3}] : (a^{n-1})^3 =$$

[Ans. $3a^5$]

$$= [a^{4n} \cdot a^{(n-2) \cdot (n-2)}] : a^{(n+1)(n-1)} + a^2 [2a^{n^2} : a^{n(n-3)}] : a^{3(n-1)} =$$

$$= [a^{4n} \cdot a^{n^2 - 2n - 2n + 4}] : a^{n^2 - \cancel{n} + \cancel{n} - 1} + a^2 [2a^{n^2} : a^{n^2 - 3n}] : a^{3n - 3} =$$

$$= [a^{4n} \cdot a^{n^2 - 4n + 4}] : a^{n^2 - 1} + a^2 [2a^{n^2 - (n^2 - 3n)}] : a^{3n - 3} =$$

$$= [a^{4\cancel{n} + n^2 - 4\cancel{n} + 4}] : a^{n^2 - 1} + a^2 [2a^{\cancel{n^2} - \cancel{n^2} + 3n}] : a^{3n - 3} =$$

$$= a^{n^2 + 4} : a^{n^2 - 1} + a^2 [2a^{3n}] : a^{3n - 3} =$$

$$= a^{\cancel{n^2} + 4 - \cancel{n^2} + 1} + 2a^{2 + 3n} : a^{3n - 3} =$$

$$= a^5 + 2a^{2 + 3\cancel{n} - 3\cancel{n} + 3} = a^5 + 2a^5 = \boxed{3a^5}$$